
MTH 265, Quiz #11, Summer 2021 Name _________________________________________ 
 
Instructions: Show all work.  Use exact answers unless specifically asked to round. Be sure to complete 
all parts of each question. 
 

1. Find the value of the work done in the vector field 𝐹⃗(𝑥, 𝑦, 𝑧) = (2𝑥 − 𝑦)𝑖̂ + (𝑧 − 𝑦)𝑗̂ +

(𝑦 − 3𝑧2)𝑘̂ on the path 𝑟(𝑡) = 𝑡2𝑖̂ − 𝑡𝑗̂ + 3𝑡𝑘̂ on the interval [0,1].  If the field is conservative, 
use the fundamental theorem of line integrals. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2. Use Green’s Theorem to find the value of the line integral ∫ (𝑥 − 𝑦)𝑑𝑥 + (2𝑥 − 3𝑦)𝑑𝑦
𝐶

 around 

the boundary of the rectangle with the vertices (0,0), (3,0), (3,4), (0,4), clockwise. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



3. Find the value of the surface integral ∫∫ 𝐹⃗ ∙ 𝑁⃗⃗⃗𝑑𝑆
𝑆

 for the function 𝑔(𝑥, 𝑦, 𝑧) = 𝑥 + 𝑦 + 𝑧 on 

the sphere 𝑥2 + 𝑦2 + 𝑧2 = 1.  (Use the back of the page.) 
 
 
 
 
 
 
 
 
 
 
 
 
 


